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00 (Note): 000000000000 DO0O0OODOOOOD0OOOOU0OOOOOODOOO(Do not forget

to handwrite your name, student ID, problem numbers, and answers on your report.)

Problem 1 (3 points): 000 co-RED D Dco-RE ={L | LODDODODO }0000000000OO0O
D0D00“000000000 ROOOOOOL = {z | Vw € $¥[R(z,w)]} 0000007 O
O0L00000CO0000000 co-RE=CO0O00O000000O (co-RE denotes the class
defined by co-RE = {L | L is enumerable}. Let C be a class defined by the set of sets L such that
L ={z|Vw € T*[R(z,w)]} for some computable predicate R. Then, prove co-RE = C.)

Hint:O O 3.500 000000 (Concider Theorem 3.5 carefully.)

Problem 2 (2 points): HALTe RECODOOOREC=REODODDOODOOOODOO (Prove REC =
RE under the assumtion that HALT€ REC.)
Note: 0000 HALTZ REC O D0 00D (Actually, we have HALT¢ REC.)



